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Vl Semester B.Com. Examination, September/Oclober 2O22
(CBCS) (Freshers + Repeaters -2017-18 and Onwards)

COMMERCE
Accounting and Finance

6.5 : Elective Paper - lll - Performance Management

Time : 3 Hours Max. Marks : 70

lnstruction : Answer should be wriften in English or in Kannada.

SECTION _ A

1. Answer any 5 questions. Each question carries 2 marks. (5x2=10)

a) What is Life Cycle Costing ?

b) What is Margin of safety ?

c) What is Budgeting ?

d) What do you mean by Debt Equity Ratio ?

e) What is Management Report ?

f) What do you mean by Performance Appraisal ?

g) State any four sources of Management information.

SECTION - B

Answer any 3 questions. Each question carries 6 marks.

2. Differentiate between Traditional Costing and Activity Based Costing.

3. From the following information calculate.

a) Profit volume ratio

b) Fixed costs

c) Sales volume to earn a profit of t 40,000

Sales { 1,00,000

Profit { 10,000

Variable cost 70%.

(3x6=18)
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4. The standard quantity required to manufacture one unit of product X is 10 kg

and the standard price per kg of material is 5/-. The cost accounting records

however reveals that 11500 kgs ol material costing < 2,76,000 were used to

manutacture 1000 units ol product X. Calculate MCV, MPV and MUV.

5. Prepare a Flexible budget for the production at 80% (8000 units ) on the basis

of the following inlormation :

Production at 50 o/o capacity 5000 units

Flaw materials < 80 per unit

Direct labour t 50 per unit

Direct expenses { 20 per unit

Factory expenses t 50,000 (50% fixed)

Administration expenses t 30,000 (40% variable).

6. From the following information calculate cost driver rates :

a) Volume related cost t 1,10,000

b) Purchase related cost { 1,20,000

c) Set-up related cost t 2,10,000

d) Relating to handling of orders { 45,000

e) Shipment charges { 50,000

l) Relating to quality inspection { 1,40,000

Cost allocation basis are :

i) No. of Machine hour 22000

ii) No. of Purchase orders 1200

iii) No. of setups 50,000

iv) No. of times materials handled 900

v) No. of times quality inspected 700

vi) No. of shipments 250.
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SECTION _ C

Answer any 3 questions. Each question carries 14 marks. (3x14=421

7. Explain the process of Performance Management lnformation System.

8. Price structure oI a company is given below :

Material t 60

Labour t 20

Variable Overhead < 20

Fixed cost { 50

Profit t 50

Selling price per unit { 200

The above data is based on manulacturing of 1,00,000 cycles. Due to stiff
competition, the company wants to reduce the selling price but wants to keep
the same amount of profit, how many cycles the company should sell, to get
the same amount of prolit :

a) lf selling price is reduced by 10olo

b) lf selling price is reduced by 2Oo/".

9. A company is expected to have cash in hand on 01-04-2021 and it requires
you to prepare a cash budget for 3 months April to June 2021. The following
information is supplied to you.

Months Sales Purchases Wages Manufacturing Expenses

February 70,000 40,000 8,000 6,000

March 80,000 50,000 8,000 7,000

April 92,000 52,000 9,000 7,000

May 10,000 60,000 10,000 8,000

June 1,20,000 55,000 12,000 9,000

Other information :

1) Period of credit allowed by supplier is 2 months.

2) 25y" ol sales is for cash and period of credit allowed to customer for credit
sales is 1 month.

3) Delay in payment of wages and expenses one month.

4) lncome Tax ol { 25,000 is to be paid in June 2021 .

5) Opening balance on l " April is t 25,000.
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10. The standard cost of a certain chemical mixture is :

40% Material A at t 400 perton

60% Material B at t 600 per ton

A Standard loss of 10% is expected in production. Actual mst ol material used is :

90 tons of Material A at a cost ol t 360 per ton

110 tons of Material B at a cost ot t 680 per ton

Actual output is 182 tons

CaIcu|ate MCV, MPV, MUV, MMV and MYV.

1 1. A manufacturing company has the production capacity ol 20000 units p.a. The

expenses for production of 10000 (50%) units for a period are furnished below :

Particulars Per unit (t)

Materials 40

Wages 20

Manulacturing expenses (40% fixed) 10

Administration expenses (All fixed) 5

Selling and Distribution expenses (60% fixed) 5

Total cost 80

Profit 20

Selling price 100

Prepare a Flexible budget for 60% ,7Oo/o and 90% levels of activity. lt is expected

that the present unit selling price will remain constant up to 60% activity beyond

which a 5% deduction is contemplated up to 90% activity level.
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1. olDdo"ddo aar {,d*zteri erudoa. {,9 {,d..ri ad& eodrldr. (5x2=10)

a) dedd 
"i4 

dq aoddeab ?

b) dedtu.9 eooaar) aoddeaJ: t
c) udr,tr aodded: t
d) d[s 

"3du3 
de&o:rDeddl deri e{riDao ?

e) odFd6)dd6oodded) ?

f) rooJrrddtd ad_edd "roddeab Z

g) Odrd6) &)&eo$ obd)de oaelo droe.:zl9&4,99:J.

aFd - r.3

o3>dtoaddo dlo$ d,d4li9d w$oa. {3 {,dnri tr& eodrl$b. (3x6=18)

2. xao$oao3:t dafla{ara: AuDdu3d sSDod dalEE{dd)ad d,,6rdidqdl,geA.

3. ddnd dDb8oerod e{ao8 :

a) oqJd ddnea ed:aad

b) xid d8,3

c) t 40,000 EDqJ deiw dDo"t3

dno;u { 1,00,000

eD?i{ 10,000

udorbd ddsTOVo.

4. wd$ X d rodr -'+r[3dd&4 dolrooie dead {,d>rdd {,d>ra 10 dd drdr 4,9
dd d$il9d E,dDsdd aJeJ 5/- ernd. trmitg, 1000 ob0ts erud$X ddrdoBe!

t 2,76,000 dqd 11s00 dd d&rr$.ri u9i(,Jnd oodr dtlcrdFg, 6De0ejdst

a;&dcrldBxbdd.

ao:rA, ao&A d)dJ noob)A d1-3.
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5. €l Egnd dDbeo1r er6-rdd d:eeJ eruooddd dnoodoSlp udts erdl 80% (8000

-"irudif$) Sclrootu :

50% rod;d, r 5000 -+i adiid O- erooodd

d?,o?j;i)$i'lsb 4,e oll,Dottr d t 80

ded ErtuFd 48 oJ]oou, ii t 50

ded dailsb 4,e oine€s ri t 20

a-oarord dqId, T 50,000 (50% A,d)

vded dalzlrt t 30,000 (40% deoo$L)s).

6. dsjRd dD&crlqod dalaood ddrf$dldodrb@o0ro :

a) dodDro roDoQd dqt 1,10,000

b) ,Doea ic?^)oQg dzit 1,20,000

c) ro*dd ioDoQd dq{ 2,10,000

d) udeddddro Fdr&ie.:: iotJoQ:rd t 45,000

e) raild d:e.roildr t 50,000

f) ?tsadJ[3d dogeerdd iorloQ:rd t 1,40,000

daldoriE vqrod :

i) cd:c$d zlo$d$ noaJ, 22000

ii) $oeo e:dedrlSnoaJ, 1200

iii) xa*ddzl$ Boa5, 50,000

iv) &dF&:rd drodd noa{ 900

v) do9eOad rbsod)[3,rd ioajd 700

vi) aazl#zlS doa{ 250.
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AqDrl-n

oJnQoaddo*Jo&Ed4il9dw$oa.{,e'-q)dnzidaoeqeoddsb. (3x14=421

7. rood>rdd>d &drda-o dDbe ddd{cdr -gq,o3Jo3rdi edo,l.

8. dodao$ arej d?3dob$ ESri Oedsand.o(

EaabD t 60
draO t 20
uderoibd d:eor dQ;lrb t 20

addq" tso
eEqJ t 50

4.8 od}oposii d>oot: sJei t 200

dreod d>&3 1 ,00,000 z3!,219 woddc$di sdotud. dosa idroDooaR dodoolD
dDqrsd ziero$dJ4 dad: d>derr a;oJricdd, erdd ede {,d>ead eDCJdd{

erDgtudradf,D DoOlDQd, dodOolr: adld4?fd${ dJaoot: dndzJe$, ec3e {,d>ead
eraCJdq ddoJrq: :

a) dDorrsd rjcio$di10ol. dd* dadJ dDadd
b) d:aoar.rd aieJo$d}2o% d& da& dDadd.

9. dod0ob 01-04-2021 docb drod$n dnod:d 0odoold dld> Dger Ood 6radr
2021 dddri oed 3 eod$ dild; ?!dr,f $dda$d sn'gded. * ddnd dJa&.3o$di

dedd eruodd daJzldc

dLldo 70,000 40,000 8,000 6,000
dDLf r 80,000 50,000 8,000 7,000
eqef 92,000 52,000 9,000 7,000
d:e 10,000 60,000 10,OOO B,O0O
acrail{ 1,20,000 55,000 12,000 9,000
eddatn&g:
1) iduuler:acdocd e,abd').gieDd Eaed edq 2 Bozld:rlgc.
2) 25 yo dDoliJd dsorodn d:dl g,AtF dnoaudo n-9,dEori er$ab&ierJd Eaed

edQ 1 Sozld:.

3) z.od) Sozlsb dedd d.)dJ €Dz$Fi.ldd1 oadeBo: &gourlrrqtu.
4) t 25,000 d smo$ dorio$d1 tsJaof 2021 dO_odSizJeacrbdd.
5) D"!,c, 1 doeb sdoq:d alDt { 25,000.

Od>ri iduuaa: d>dorbdd.
Sorl$ dD6Bd$ e)oeaddJ
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1 0. Aor{o)E)o$od tu4rod {,d>t6d dt"l :

40% d$ a, t 400 €,.9 r^i6s ri

60% dlD ?!, t 600 €,e BF6 d

s!@ddobO-10"/. 4,il)tdd d*d$4 OoefiieraAd. u9:rd d$zl$ OtsaDd dq3:

90 [3dfd9 dr[.3eooJ)e' a, t 360 q,a tjd6 7i

110 r,36fd9 dx^3eoo$ef a, t 680 8.9 t^ro6 ri

Diad en Erdd 182 B66il9,)rrJ

")otu&, 
ao&&, aoo$)&, ooao& d:d: aod.ja Str*,'Jd drJa.

11. eru6do-J dodOo$) dD&rd 20000 +t^ld7id waodda xad:drrddl dooad. r.odr
edQri 10000 (50%) dps8rl$ erueaddod: drij'i9$.*ddri &edsaRd :

oddri$ d,s*8qfi)

deddrlgl>

erded ddildr (de)) tud)

drosor3 d)d) adds? dzijrlsb (60% :60

t ur dr,3si z.j

d>oau zJeJ

6Oh7oo/o drdl 90% d)t3d ?st$du3dzron dooado+iop t^-tdus'doiaoB.

-gf!d qixe$ dDoa!3d uleJ60% zS$dtldo$ddzi ldaand:dd aod) &oetBeDnd,

erdd dodd 5'l. dagddl90% tse,::durto$ d>i{E6selaedBorbdd.
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